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Puzzle 1 (Very hard, difficulty rating 0.8

~| —~|
—|o|m]|a|o|w]o|~|2]  Slo|c|m]—|—|o]w|<|w© w[~|a|—|o|m|<t|o]o] Fla|m|—]wo|o|w|o—|<
=] =]
~[o|Nnjo[m| ]| Nl —|o|w||m|f~ No|—[=|w|o||oo|—[m Ar—|o|o|m|f || —|w
s s s
<t|o[w]~|of[—]~|o|m Slo| st~ ©o|m] || o Sloojo|m]<|o|~|w|oy)— Sl |w| o] —|o|~|Nfo|m
2 2 2
| m|—|o|©| o] <o~ 3lo|o| o)< —[N]o|—|© 3l || || |o|w|© 3lw|o|—|N|m| o]~ ||
w|—|o]s|n|m]o|o(~] B |o|s|w|m|o]a|~|o]  Bla|o|wlo|—|o|m|s |~ B[ [m]o—|o]o|wv|
£ £ £
o||o|w|—[~lo|m|a] S|l |o|ols|o|m] Sle|o|o]o|~|w]|N|—|ol  S|o|o|a|w|<st|—|m|o|~
nel nel nel
(4] (4] (4]
o|afsfo|w|o|~[—|o] Zl|®m(©o]o|N|~|o(w|—]  ZElT| (o~ |w|o]o|m|a] S| —(s[o|w]| ™[ ©
N ™ <
(5] [t R [oo] 54 [¢e] [To) (N1 o} o|N|—=[w]wo|o|—]|o|m| < o]o|w|~]|N|m| oo || < % (el i K%e] Eodl Rad K] [Tol feel Ko
N N N
N N N
ofw|o]—[~ajm(sto]  Slof—|oloi<|wl~foja)  Sloj|ojol | —[~(o|o] - Slo|fo|—|o| ol < o




